(2013 4 2 FUNE R BER 2R 2D 86 E( &0F ) id
hERE)BHER

—.1.988 2.167 3.9 4.11 5.099 6.22;28
—.7.B 8.A 9.C

10. D, 487 : L A HTE,BF LER —FRBNEAN ZABIE 4 x5 + 2 = 10(4),H
HLLA AT, CF.DF .EF FER—&EBARAN=Z/AELE 101 UL FRTIS AL R
B FRBERENNZ/ATEIAE 4 x5+ 2 = 10040), Kb =MF AIF ANF.AMF f1 ALF &
BT, FEE 10 - 4 = 6(4),[FBE, LA F RIS, AKAJAE FRTE—KRBONEN
HI=ZMAIERA 6 1, 3EH 10 x4 + 6 x 4 = 64(N) =ZFHTE,

=.11. 123.456 x 65.4321 > 64.5321 x 124.356,

IR 1% 123.456 4 a,64.5321 4 b,

=ax(b+09)-b(a+09)

=ab +0.9a — ab — 0.9

=09(a-b)

K a - b = 123.456 — 64.5321 > 0,

FFLA 123.456 x 65.4321 > 64.5321 x 124.356,

12.1.8 x 8.17 - 02 x 6.92 x 9 + 0.6 x 1.25

= 1.8 x (8.17 - 6.92) + 0.6 x 1.25

=1.8x 1.25 + 0.6 x 1.25

= (1.8 +0.6) x 1.25

=24x 125

=03 x 8 x 1.25

= 0.3 x 10

=3

13. 4343 x 343 + 3.43 x 32.24 + 3.433 x 34.3

= 34.3 x (4.343 + 3.224 + 3.433)

=343 x 11

=343 x (10 +1)

=343 x 10 + 343 x 1

= 343 + 34.3

= 3773

(|



14.

1
X

9
3114

0.8 2
MR 157 x2.6=40.82
15. ff B BREUR « WIBBREUR: 8% + 11,51 71815
(8 + 11) +x + 8 + 11 = 543,
At x =57,
MIBERER: 467, BREUR 57,
P9.16. f#: WAVEHLEHE N TER—H, S4HP, JMEEFRHBEEABETEHZL 8
W, R AL BRA IR T 24 B, BrA—3 K 24 + 8 = 3(4), B 6 BB, I B FBL A 4 AL
T, BT AR YR :4.12.20.28.36.44 HC, I BAL  (HIEEA 4 + 12 + 20 + 28 + 36 + 44 = 144
(B0
17. %8 2 NPNAE R —H , EXFENSHTT , BT MR 12 + 1 = 12(4N) 4k
H,12 + 2 = 6N, 12 + 3 = 44N )URHEEE, 12 + 4 = 3(4N)Hshid:, — 3T 25 4V
&, FTAIZEA 100 + 25 = 4(4) , BrLAA 4 x 12 = 48(A)/MAK
18. f# /NN R EERIEEEE(90 x 10 + 60 x 5) + (90 — 60) = 40(434h), FEBS (40 -
10) x 90 = 2700CK ), M FE Ky 2700 + 40 = 67.5CK/5M4H)
#.19. 85,
7520, Kt BN EHR, R B A A RN, Bl R SR B, TR A S
HR R, B LA R BB R BAAULAY , S8 — A RBERE O RIFE— AR ER, FE=NERH,
AR LZE— NN CEB) VLAY : “TRAE AN NS, SR AR, BV ERA B2 LS, RE =4
NCERODULATE—RE, B DAL T FIRERTE , XA BT & , BT AR — N AR, 36 =
MARHI

» N
SIS




